TCGE B & #R

TCG Cam Ring Unit




RGU series

Maximum working torque
BETRIRAE AR
Allowable static rated torque
EEENER D EsENIE R
Inertia moment of drive unit
AR EIEENES

Inertia moment converted to input shaft

I FH4% - BUSE - JMUE  specifications, Models, Outline Drawings
%3 Specification Table
BARE| BAGH BHITE| BB | mmar| BEWA [ e | BERL | gy nh | EEEE | A
B 5% (L7 L] L] HEEE EERE JEEEE ; IR A 58
Model Basic dynamic| Maximum | Allowable static | Inertia moment Mt alerage Maximum number of Aliiizazag Maximum number of I e Recommendable | Input shaft Mass
. . - | numberof input | . . number of output converted to . .
R rated torque |waorking torque | rated torque | of drive unit ol input revolutions evoluians output revolutions — motor capacity |hole diameter
Iedu;?;ilmm N-m N-m N-m |x10% kg'm?| rpm rom rom rom x10* kg:m? W mm kg
40 75.0 1125 0.696 400
80 375 56.3 0.485 200
RGU1610A-C40- 120 83 143 143 213 25.0 375 0438 200 16
160 18.8 28.1 0.419 100
60 50.0 75.0 0.884 400
120 25.0 375 0.532 200
RGU1610A-C60- 180 125 237 290 1158 167 250 0.459 200 14 30
240 12.5 18.8 0.431 100
80 8000 4500 375 56.3 1.211 400 ].1
160 18.8 28.1 0.613 200
RGU1610A-C80- 240 165 316 390 4151 125 188 0.495 200 8 54
320 9.4 14.1 0.451 100
100 30.0 45.0 1.691 400
200 15.0 225 0.733 200
RGU1610A-C100- 300 205 395 480 11279 T00 150 0548 200 81
400 7.5 11.3 0.481 100
40 50.0 100.0 5.29 1500
80 25.0 50.0 3.45 750
RGU2510A-C40- 120 290 479 670 2046 16.7 33.3 3.07 750 48
160 125 25.0 2.92 400
200 10.0 20.0 2.85 400
50 40.0 80.0 6.21 1500
100 20.0 40.0 3.68 750
RGU2510A-C50- 150 360 598 840 5487 13.3 26.7 3.17 750 72
200 10.0 20.0 2.97 400 24
250 8.0 16.0 2.89 400 .
60 33.3 66.7 7.41 1500 20
120 16.7 333 3.98 750 .
RGU2510A-C60- 180 430 718 1010 12221 2000 4000 11.1 22.2 3.31 750 19 94
240 8.3 16.7 3.05 400 .
300 6.7 133 2.94 400 16
70 28.6 57.1 8.36 1500 ]‘4
140 14.3 28.6 4.22 750
RGU2510A-C70- 210 510 838 1180 21310 9.5 19.0 341 750 124
280 7.1 14.3 3.11 400
350 5.7 11.4 2.97 400
125 16.0 32.0 20.07 1500
250 8.0 16.0 7.15 750
RGU2510A-C125-| 375 910 1496 2100 250935 5.3 10.7 4.71 750 343
500 4.0 8.0 3.84 400
625 3.2 6.4 3.44 400
BEAENEAE A D E-EREEER  RTERE S AR o
Basic dynamic rated torque Basic torque required for satisfying the rated lifetime during a constant-speed, continuous operation.
=AERAESE D EFEEEALERNRE (BSIRENEE) HRAE -

Maximum value of torque for normal operation (including the peak torque during acceleration/ deceleration) .
D IERIEM T ELESEINIERS - ER TRAIRE

Maximum value of torque for non-normal use, such as emergency stop and external shock.
 EH ARSI AEEE)ER - SE MG  aREEEEEE—HES

Inertia moment of the output side rotation unit. To calculate load torque, add the load inertia moment.
D BT EREIREE -

Converted value of the entirety of Ring Unit.

BIZER/N  Model Indication

RGU[ LI [ JA-C[JLILJ-[] L= DDDDD D
Refer to Specification Table.
’4 H X2 L REREEEREEENEL T
0000 AEE 8 A Bhih (S

B 3 R R FEsE gt sgE R 53 AEIEAREAR T & B ABHERAR Input shaft hole diameter
Bracket No. Number of ring teeth Total reduction ratio Motor mounting code Option E?élg?izlj:g? K%%glg%é}lachment, enter
40 A EIR %3 R ERAERP12-15H o
60 With cover Refer to M ing Tabl 12-1
1610 80 R TR jer to ‘otor Eo‘rrespondmg able on pp. 5.
100 X4 EBRERTRE W UNEMAREHER -
20 EMPRTESREP5-PEH -
50 The cover is a safety cover, not a dustproof cover.
2510 60 For the outline dimensions of models with cover,
70 refer to Outling Dimensional Drawings on pp. 5 — 6.
125

-062 -



MR~ Outline dimensional drawings
eRGULIOOOA-COOO-OOO-00O0OOO

AP COXMOO 3R 00

(BB) AP <M Depth (]
) (D) AOCol1) g
T
TTINELSIS 2
T (4]

AN

\DG

#DA
|
Il
¢DB
el
—— (o]
o
o3
D)
Al

@DC H7
@DD h7
AK

-1 z
L] ; 5
Al Ny .
1RIkss AQ 4XMI] Qoo
[0 ] NIRRT an
o i Tap for lifting bolt ED 2x¢ 1 H7 el g O]
Bl(aB)| (AA) EE
(BA) AG [@lo00[A]
R~ Dimension table
—
%Dfl A | AB | AC | AD | AE | AF | AG | AH | Al | AJ | AK | AL | AM | AN | AO AP AQ
6xM6  E12 &
RGU1610A-C40 | 90 | 73 | 15 | 26 |115| 80 | 210 | 180 | 270 | 12 | 190 | 65 | 102 | 122 | 6x¢12 | 5P 1 =) o
RGU1610A-C60 | 101 | 62 | 15 | 37 |115| 91 | 300|250 | 355 | 14 | 250 | 75 | 139 | 170 | 6xp12 | '2XM8 Depa’mG M8
RGU1610A-C80 | 116 | 48 | 20 | 47 | 115 106 | 400 | 330 | 450 | 19 | 330 | 80 | 184 | 220 | 6xg18 | '&XMI0 =20 1 g
xM10 Depth 20
RGU1610A-C100 | 125 | 38 | 20 | 56 | 115|115 | 460 | 400 [ 530 | 16 | 400 | 95 | 216 | 268 | 6xg¢18 | 'SMIZ Dem’;"ﬁ“ M10
N
RGU2510A-C40 | 122 | 97 | 15 | 45 | 185|112 | 320 | 270 | 405 | 11 | 270 | 110 | 146 | 193 | 6x¢18 11221’\&? Deptﬁge M8
RGU2510A-C50 | 141 | 78 | 20 | 59 | 185 131 | 400 | 330 | 480 | 19 | 330 | 110 | 184 | 230 | 6xg12 | '&XMI0 K20 1 g
xM10 Depth 20
RGU2510A-C60 | 142 | 78 | 20 | 60 | 185 | 132 | 440 | 380 | 540 | 16 | 380 | 125 | 206 | 268 | 6xg¢18 | 'GMIZ Dep@f“ M10
RGU2510A-C70 | 147 | 73 | 25 | 60 [ 185|137 | 500 | 440 | 610 | 16 | 440 | 135 | 236 | 308 | 6xg18 | 'xMI2 Depfzfdf M10
RGU2510A-C125 | 125 | 97 | 30 | 30 | 185 | 112 | 820 | 750 | 990 | 31 | 750 | 175 | 406 | 518 | 6x¢22 | 'GMIO Depfsfz M16
T
Vo BA BB BC BD BE DA DB DC DD DE DF DG DH
RGU1610A-C40 | 636 | 846 222 | 1332 | 36 94 55 90 118 42 67 209 105
RGU1610A-C60 | 766 | 956 318 | 1332 | 36 168 90 150 188 42 67 305 170
RGU1610A-C80 | 916 | 1106 | 418 | 1332 | 36 246 160 240 278 42 67 405 260
RGU1610A-C100 | 1026 | 1196 | 514 | 1332 | 36 320 210 310 358 42 67 501 335
RGU2510A-C40 | 836 | 1166 | 344 | 1832 | 36 168 20 150 188 63 101 331 170
RGU2510A-C50 | 1026 | 1356 | 417 | 1832 | 36 246 160 220 258 63 101 404 240
RGU2510A-C60 | 1036 | 1366 | 493 | 1832 | 36 320 210 280 328 63 101 480 305
RGU2510A-C70 | 1106 | 1416 | 573 | 1832 | 36 320 210 350 398 63 101 560 375
RGU2510A-C125 | 836 | 1166 | 993 | 1832 | 36 560 600 740 860 63 101 980 820
-
_&KA 0;5 EA EB EC ED EE EF EG EH El
2x¢8H7 MmAGI2 BT 2x¢6H7 %6
RGU1610A-C40 10 192 144 2x ¢ 8H7 12 Counter bore Depth 7 $0.05 105 0 2x ¢ 6H7 Depth 6 $0.03
2x¢10H7 JEEA ¢ 14 R5 2x$8H7 8
RGU1610A-C60 e = 2l 2x ¢ 10H7 ¢ 14 Counter bore Depth 5 $0.07 170 15 2x ¢ 8H7 Depth 8 $0.03
2x¢12H7 EEAG16 H8 2x¢10H7 E10
RGU1610A-C80 10 368 276 2% $12H7 16 Counter bore Depthg | £0-07 | 260 15 2% ¢ 10H7 Depth 10 $0.03
2x¢12H7 JEEALH16 RS 2x¢12H7 ®12
RGU1610A-C100 10 440 330 2x ¢ 12H7 ¢ 16 Counter bore Depth 8 ¢0.07 335 11.25 2x ¢ 12H7 Depth 12 $0.05
2x¢10H7 ME@Ap14 &5 2x$8H7 %8
RGU2510A-C40 10 296 222 2x ¢ 10H7 ¢ 14 Counter bore Depth 5 $0.07 170 15 2x ¢ 8H7 Depth 8 $0.03
2x¢12H7 JEAG16 ES 2x$10H7 E10
RGU2510A-C50 e 368 26 2% ¢ 12H7 16 Counter bore Depths | 2007 | 240 15 2% ¢ 10H7 Depth 10 $0.03
2x¢p12H7 MEEFLH16 X8 2xp12H7  &12
RGU2510A-C60 10 416 312 2x ¢ 12H7 ¢ 16 Counter bore Depth 8 ¢0.07 305 11.25 2x ¢ 12H7 Depth 12 $0.05
2x ¢ 12H7 EEAG16  F13 2xp12H7  &12
RGU2510A-C70 10 480 360 2% 12H7 616 Counter bore Depth 13 | €007 | 375 11.25 2% & 12H7 Depth 12 $0.05
2x¢12H7 mEAe16 R18 2x¢16H8 %16
RGU2510A-C125 | 20 800 660 2x ¢ 12H7 16 Counter bore Depth 18 601 820 11.25 2% ¢ 16H8 Depth 16 $0.08
BOMRST BFIEBEBAGFEMRTE - B[] dimensions enable when choose option A (With cover)

-63-



RGU series

I FRAE - BU5E - HPEUE] Specifications, Models and Outline Drawings

IMEZR~FEl Outline dimensional drawings

0 BEELR IR FEMEI(RGU1610A)

Detailed drawing of motor mounted portion (Model RGU1610A)
BxM5 ®12 ¢ 11

B6Xp5.3
w B B 2
o (]
iSY % Lg B L;I i
/18|l b]]14]
CA
cB)
BRI &)
30
RIR B ELERIHEFME(RGU1610AEY)] Dimension table [Detailed drawing of motor mounted portion (Model RGU1610A)]
i CA cB E E & H | J a b c d e
odel
co1 20 45 M3x6
co02 23 335 8 20 46 30 10 5 10 M4
M4x8
= 28 385 8 i . 195 0 40 12 6 14 M5
_— 23 335 8 20 30 10 5 10 M4
14 Mb5x10
DO1 28 385 1-14 195 40 12 6 14 M5
D02 %8 14 70 0 Mex1z
o HERKIAFHMEI(RGU2510A)
Detailed drawing of motor mounted portion (Model RGU2510A)
BxMe EI5
B6Xp6.3
w B gl o ¥
- S % % A Lé'
||
BRI DllbJflLSs
CA
©B)
&)
B
R RIEZZRIES D FME(RGU2510ARY)] Dimension table [Detailed drawing of motor mounted portion (Model RGU2510A)]
%l 5 B CA CB D E F G I J a b c d e
odel
Fo1 M4x10
F02 ° 14 50 70 40 12 6 14 M5
M5x10
FO3
38 47 19 0 % 50 15 75 18 M6
- 14 40 12 6 14 M5
33 128 |[16-19 50 15 75 18 M6
8 14 M6x12 | 40 12 6 14 M5
FO05 5151 8 100 0 s
F06
= 56 65 24 o5 s 55 20
= e 15 75 M6
= 38 = 16-19 M8x16 | 50 18
G02 a4 56 76 10 158 o aa| MO 148 55 20

64 -



